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QUESTION NO: 1

Which of the following options are steps in the DCI encoding process? (multiple choice)

A. Information unit multiplexing

B. CRC addition

C. Channel coding

D. Rate matching

E. Code block cascade

ANSWER: A B C D 

QUESTION NO: 2

Both LTE uplink and downlink use SC-FDMA technology.

A. True

B. False

ANSWER: B 

QUESTION NO: 3

Probe is an air interface test tool, mainly used to collect LTE network air interface test data.

A. True

B. False

ANSWER: A 

QUESTION NO: 4

https://dumpsqueen.com/


DumpsQueen - Pass Your Next Certification Exam Fast!
dumpsqueen.com

Antenna feed adjustment refers to the adjustment of antenna azimuth and downtilt angle. The most commonly used method 
is to eliminate cross-area coverage, weak coverage, and PCI mode 3 conflicting cells.

A. True

B. False

ANSWER: A 

QUESTION NO: 5

How many codewords can be transmitted at most for a TT in the LTE system?

A. 1

B. 2

C. 3

D. 4

ANSWER: B 

QUESTION NO: 6

Which of the following are NAS EMM? (multiple choice)

A. Atach

B. Tracking area update

C. Authentication

D. EPS bearer setup

ANSWER: A B C 

QUESTION NO: 7

The path loss value obtained from the link budget is the median value. The actual path loss fluctuates within this value. In 
order to ensure a certain edge coverage probability (such as >75%), a certain margin needs to be left. This margin is mainly 
related to the radio wave. Which of the following characteristics of propagation are irrelevant? (multiple choice)

A. Frequency selectivity
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B. Fast fading

C. Depolarization

D. Shadow fading

ANSWER: A B C 

QUESTION NO: 8

What are the statistics of the switch analysis report output? (multiple choice)

A. Switching times

B. Number of successful switching

C. Switching failure times

D. Handover success rate

ANSWER: A B C D 

QUESTION NO: 9

What are the types of switching according to the trigger reason? (multiple choice)

A. Overlay-based handover

B. Load-based handover

C. Business-based handover

D. Handover based on UE moving speed

ANSWER: A B C D 

QUESTION NO: 10

Which of the following KPI indicators belong to the retention category?

A. Paging success rate

B. RRC connection establishment success rate
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C. Drop rate

D. Resource block utilization

ANSWER: C 
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